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28 P22 il FR SES 8 FERE
L (B/5)
B g & 6 - 10 75-87 7.9 e
HEEE (mg/) 100 <30-71 42 s
Wil 4 & (mg/l) 10 <2-5 2.4 yiss
MEYEE (mg/) 2,000 220 - 1263 690 =
WAL 48 & (mg/) 10 <05 <05 s
SALMEE () 01 | <004 0.051 £
0.073

T E RS YRR (me/) 100 <15-18 15.4 s
s (mg/) 20 <10 <10 =
MeaeE (mg/) 0.5 <0.30-0.31 0.30 =
RER AR (me/) 1 <0.6 <0.6 s
FHEMERE] (mg/) 15 <7 <7 =
EEFTEHE (mg)) 2,000 < 200 127 s
Ak E (mg/) 200 <20-37 22 s
i (0) 43 29 - 32 31 =
T V) E (mel) # - - - -
EEeE

ti - (mg/l) 2 <04 <04 s
5 (mg/l) 5 <1 <1 yoss
% (mg/l) 0.1 <0.1 <0.1 s
¥ (mg/l) 1 <0.3 <0.3 =
7 (mg/l) 2 <05 <05 =
#i (mg/l) 2 <1 <1 =
i (mg/l) 5 <0.2 <0.2 =
7K (mg/l) 0.05 <0.05 <0.05 =
5 (mg/) 2 <1 <1 =
$ (mg/) 2 <04 <0.4 =
# (mg/l) 5 <1 <1 =
$  (mg/D) 2 <1 <1 =
E 5 e BB E# (mg) 10 <7 <7 e
B (mg/l) 5 <1.0-13 1.0 =
# (mg/) 10 <2 <2 =
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Aldrin (mg/l) 0.01 <0.01 <0.01 yss
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AR (mel) 0.01 <0.01 <0.01 e
FEEELEEY
REE (mg/) 0.1 <0.06 <0.06 &
EHEMLEY
1,1,1- = 8 2 5% (mg/) 0.05 <0.025 <0.025 e
ZEBE
% A K 48 & (mg/) 0.003 <0.003 <0.003 yes
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() =+4srirFEaE @
ks (kg/0.5h) 0.58 0.00 - 0.07 0.02 =
— & bW (kg/0.5h) 3.86 0.02 - 1.48 0.28 =
B % (kg/0.5h) 1.16 0.01-0.43 0.05 Lk
FALE (kg/0.5h) 0.08 0.00 - 0.00 0.00 pss
ALY
(L Z & 1k & &5 8) 7.71 0.93 - 4.32 2.03 =
(kg/0.5h)
A bR (kg/0.5h) 0.39 0.00 - 0.02 0.00 =
— & L% (kg/0.5h) 1.93 0.00 - 0.72 0.09 o
(2) B¥E ©
L (kg/day) 9.25 0.66 - 1.49 0.93 =
“ &b (kg/day) 46.27 10.50 - 19.38 13.49 yss
Eii%E  (kg/day) 9.25 1.71-3.32 2.64 yss
&AL G (kg/day) 0.93 0.01-0.02 0.01 yiss
ALY
(L Z & 1k & &5 &§) 185.06 67.02 - 104.55 93.90 =
(kg/day)
BA b (ke/day) 9.25 0.01 - 0.06 0.03 yiss
— &AL (kg/day) 46.27 2.33-7.40 4,54 yiss
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(Hem )@ B/E)

AXRALEY
(LLAR S B E) (ke/h) 093 ' '
wmREALEY
(L@ ba&2itHE) 0.73 - -
(kg/h)
% 1 (DA B2 51 &) (kg/h) 1.45 - -
AR E(LABEETED) (ke/h) 0.21 - -
R RORAEE (kg/h) 0.19 - -
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(ke/h) 0.0019
EESBEZHE)O:
fift (kg/h) 0.0023
EuaeBG _HNHEE
(ka/h) 0.019
& (kg/h) 0.0019
TIE B (ng/h) 2,801
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B8
B g 15 (7K) B 1&8@ ey | 123-128 12.6 s
BB ) | g |  60-91 71 B
ek
$% (ppm) 0.5 <05 <05 =
7K (ppm) 0.1 <0.02 <0.02 v
AL E  (ppm) 10 < 0.50 - 0.64 0.51 s
#i (ppm) <05-45 1.73
# (ppm) <05 <05
#i (ppm) <1 <1
# (ppm) <05 <05
f ;ﬁ%épﬁﬁ)‘ FEH) 25 <25-65 3.7 2
#  (ppm) 20 <1 <1 yss
W% (ppm) 10 <5 <5 =
R E (ppm) 10 <2 <2 &
#16Y) (ppm) 5 <5 <5 =
B8
g %fmjf W 5,000 <15 <15 v
AN EEE -
(ppm) 10 <5 <5 E
i&p;b)zﬂﬁﬁ Ny ) < <5 =
% & WA (ppm) 1 <1 <1 s
TCDD (ITEF %) . <1 <1 =

(ppb)




